Log2 Fold Change

Log2 Fold Change

Log2 Fold Change

Log2 Fold Change

15 2N _old-2N_yng 15 2N_old-2N_yng

6-
1.0- Cut Count
10001 O
— 2 0.01 0
K 30025 0
pass thresh & pass thresh .
S 4 0.05 0
FALSE ?gi FALSE 5 01 0
- 0.5- 6 0.2 0
7 03 0
8 04 0
- 9 05 0
—6- O O- ax IOTC' <) )
1 2 3 4 -6 -3 0 3 6
Log10 Mean expression Log2FoldChange
15 Dp16 old-2N_old 15 Dpl16 old-2N_old
o X
O)
1.0- Cut Count
10001 O
— 2 0.01 0
K 30025 0
pass thresh g pass thresh .
S 4 0.05 0
FALSE ?gi FALSE 5 01 0
- 0.5- 6 0.2 0
° 7 03 0
-2- 8 04 0
9 05 0
0.0- “ﬁmoc
_4- 1 1 1 1 1 1 1 1
1 2 3 4 -4 -2 0 2
Log10 Mean expression Log2FoldChange
15 Dpl16 old-Dpl6_yng 15 Dpl16 old-Dpl6_yng
3- o )
5-
2-
® 8 ® 4' e [5)
Cut Count
° 10001 9
= ° ° & 2 001 60
pass thresh g 3 N pass thresh 3 0025 101
FALSE & § FALSE o | o
—
© TRUE g °* TRUE 5 0.1 435
- 2- 0 6 0.2 807
7 03 993
8 0.4 1065
1- 9 0.5 1069
o) 0-
2 3 4 2 3
Log10 Mean expression Log2FoldChange
15 Dpl6_yng—-2N_yng 15 Dpl6_yng-2N_yng
2-
1.0- Cut Count
10001 O
— 2 0.01 0
K 30025 0
- pass thresh & pass thresh .
S 4 0.05 0
FALSE ?gi FALSE 5 01 0
- 0.5- 6 0.2 0
7 03 0
8 04 0
9 05 0
_2-

0.0- =™ mﬁo

1 2 3 4 2 -1 0 1 2
Log10 Mean expression Log2FoldChange



